1/od?o/ dp™dy"™ [1/GeV]

Ratio to ATLAS

[HEN
o
R

=
o
2

T

[HEN
<
N

107

0.5

13000 GeV pp it
| I ! I I I ! ' | | ' I ' T T T T | %
— e
— top , _ 1S
- P; (ATLAS semileptonic ttbar) 13
B 1=
LO
B o
L I
o
—
— |-
— —Im
— -
_ i
B i
= —©
— Jm
— — <
L — ™M
u s
B — 0
o
i 1
| B ATLAS _§
—A— Pythia 6.428 370 =
— k- Pythia 6.428 371 —=
— --¥-- Pythia 6.428 372 . E
B «-- Pythia 6.428 376 . 8
wn
i 13
B |1 a
(@)
| | L | | | | | | || €
= I ' ' ' [ T T i T 1
= =P
1
B —0.5
| 1 M 1 M 1 M 1 M | M 1 M 1 M 1 1 M |
0 500 1000

p" [GeV], Iy in [1.4,2.5]



	Contents
	Page 1


